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- IR33 NOIPIR TR RPN
noyay teaches that she is acquired through 18°2

OVERVIEW

The Xn3 teaches that the word [72v2) in the 'P109 of [79v JwWR WX 1P °d
teaches us that a woman is 71X%°22 n°3p1. Our Mo01n discusses the need for this
108 to teach us that %2 is 712, when we can seemingly derive it from

.

mooIn asks:
— N 11\’)5 3’)33 VIVYNT NP I N2 Y 79°9 9INRN ON)

And if you will say let us derive that an AWK is X221 nN°Ip1 since 1P° %2 is
written in the P109, and the word ri?° is also used in the context of 7X°2 -
= NPT NP 1NDID 5
As we find by all the words of 715 which are written in the 770 concerning
the NY39Y. Moo now enumerates several places by N7y where the term 7mp is used
and it (obviously) means 1X2, such as -
— PAN NYN DX NP TUNR YR NPN KXY DMNN IX NYNRY IMNN DN NP TUN YIN
A man who takes his sister, or you should not take a woman with her
sister, or a man who will take his brother’s wife. In all these cases the term

7P means axoat Why then do we have to derive nx°a 1Ip from 1921, when we can
(seemingly) derive it from np> °37?!

N1B0IN answers:
— 9NN 1P VYD TYAN INT NI SINYT 90D U

And one can say; that it is different where 77°? cannot be interpreted in
another manner (as in the cases of n1™), then we say it must obviously refer to x>2.

However, where 7m°p must not be interpreted to mean 7X2 but it can refer to a different
type of 7P (such as 7o3 W1 7°R), then we do not interpret it as X2,

mooIn supports his view that there is a difference whether the meaning must be restricted
to only the interpretation of X2 or it can be interpreted differently -
— DD NN PPN PMPOY (x,ty 97 Mna%) NOINN DY PRYI P92 19999INT

'x,7 (X¥n) 227

? See “Thinking it over # 2.

? See “Thinking it over # 1.

* The 7m0 writes concerning all these cases of im°p by N1 that one is N3 2°n. There is no N3 217 unless
there was i1%"2. [It cannot mean 721 7P (also) since WI7°P is not 0910 by N1 °2»1 (which the N1y are).]
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As the X7»3 states in *7OMuRT 5Y PRW po9; the unspecified term PmpsS
(taking) is written in the 79 -

— NP ANYPY ANNAN N9 *N2%aWh NN
The term mp°> which is appropriate to be understood (only) as 729w, it
means 7120w, and that Pmp°% which is appropriate to be understood (also)
as P, it means 792, We see from that X3 that where Amp cannot mean anything
else but 7x°3, that is how we interpret it; however where it can have an additional

meaning (such as Pw17P) we understand it in that manner. Therefore here too we can
[and will] interpret 1> 3 as O3 W1 7P and not 7X12.

MooIN asks:
— N2 NPT MY NN ‘]b’” NN ON)

And if you will say; and let us derive that a woman is 78°323 n°1p1 from a
' —
(2,m 97 0w) 191D DY NAN VI3 129997
As the 87n3 states in the beginning of "yn%2° by X357 775 -
—Tnnsp nRvp NONN SANIYNA NIPIY 1PN NYYaY AUN
From where do we derive that a woman is /71122 to her husband through
R9Y7 (even without X2 723)? It is derived through the w"r of amsp amp.
We see from that X773 that because of the w"x of an°p AP, the np> by AWK 1Ip is referred

to as nx°2. The 109 of 7%¥2 is unnecessary; for we know that np> >3 (which is discussing
TWR 7Ip) refers to X’ from the 7°p AR W' from N1y,

MooIN answers:
— DY DNOPNM 192920 MN KT NN 979 NTPI) AN INT INT 9017 U

And one can say; that if the 7730 would not write '7bpaY' at all, then we
would not have derived from 7 that is written by nvap the basic rule

that an WX should be 718322 nap1 -
— 595 Papa SYNYIN KY ONNT INYDT T

> The mwn there states that if a person was 01X» a woman (but was not w7pn her), he may marry her mother
(or daughter), for (as the X3 there explains) concerning the punishment for marrying a mother and
daughter, the transgression is written (7° ,2 87p"1) as 7aK NXY AWR DX 7IP° WX ¥R, using the word np° which
indicates that there was Pw17°p initially. The X723 there asks; if so then by the n17¥ where the term 7r°p is
used, is should be limited only to 7°w17°p. The X7n3 responded 21 77102 123105 1°MP° as mentioned in MOOIN.
% The X071 in our X3 there is 7270w 712°WY “IXIA AP APY MR

7 moon is asking that even though the word fip> °3 (on its own) should not be interpreted to refer to %2, but
there is a w"13 which interprets the 7P of fip> 7> as 11X (or AXWI).

¥ ax7w7 is an incomplete Ax"2.

? The term 7P is used by acquiring a woman 72921 WX @K P> » and the word 7P is used by M. Just
as by N1y the term 1m°p refers (even) to nX7v: (as is derived from the [1°,2 (2°w17p) 87p™] P05 which states
7Y 7Mpn NX), similarly by the 7P of an WX it is a proper 1X°2 1Ip even if it was just AR,
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Since the 75 by Ny is not discussing 1P at all. The subject by nw is
2o°X not 2°11p. The w"x would not have been used to derive (AX7v) %2 PIp from
(RWIT) RO NOX -

%9291 199912 ANY2 M9 ANIYH AYNY YaN

However once we know 11X°2 11p from 179921, then we certainly can derive

from the 7P P w"TA from N7y that AR9Y7T is considered as a RS2 9%
(and will therefore be 7177 by an mz;x).“

SUMMARY

The term 7m°p only means 7X"2 if there is no other interpretation applicable.
We can derive from N1y what the parameters of 7X’2 are; we cannot
however derive 0°1°1p from 2°0°X.

THINKING IT OVER

1. When nooin asked that we can derive 18" *w7°p from 2np *3, was the
intention to exclude 702 WP (since it means 7IX*2), or does NIBVIN mean
that we can derive both 702 *u17°p and X2 *Y17°P from P> 913

2. mooIn asks that instead of deriving 1X°2 *w17°p from 77921, we should
derive it from '“np> 5. What is to be gained by deriving it from fip> *3 as
opposed to deriving it from 719v21?

' The w"5a is not teaching us what is a 137 by an 7w, it is merely explaining what is a considered a 7x°2; a
X°2 713 is not required, even aX7YA is sufficient to be called a nx2.

" mooin perhaps assumed initially that the w"1a of 7m°p 7m°P means that just as the word Am°p by N1y means
that you transgress by 1X7¥7, similarly the word (1p” °2) Am°p by 1"17°P means that you can acquire the TwX
by nx7v7 (and of course nX*2). In his answer MO explains that the w"T teaches that just as by nray
(where the word 7m°p is written) ARV is X2 032, similarly here when there is 7% w1 7°p, then AXWT is
X2 30 (but not that the meaning of 1> "3 is AXIYA or 7X°2).

12 See footnote # 3.

1 See 1"ax footnote # 79.

' See footnote # 2.
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